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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST Il
SESSION 2024-2025
CLASS: VIII MAXIMUM MARKS: 80
SUBJECT: ENGLISH TIME: 3 HOURS

General Instructions:
1. This paper consists of three sections: A, B, and C, 14 questions and 8 pages.
Read each question carefully and follow the instructions.
All questions are compulsory.
Internal choices are given wherever applicable
All the answers must be correctly numbered as in the question paper and written in
the answer sheet provided to you.
Ensure that questions of each section are answered together.
7. Strictly adhere to the word limit given in the question paper.

ok~ wnN

o

SECTION A: READING (20 MARKS)
Read the following passage carefully and answer the questions:

1. Among the fundamental qualities that a citizen of a democracy must have is a deep concern
for the good life of his fellow beings. He must have a sense of social responsibility and the will
to sink his own immediate interests and the interests of his class for the common good. He must
do his full share working for the community.

2. But these qualities alone might lead to the well-meaning dictator or the unthinking follower.
The citizen of democracy must also be a man of independent judgement, he must respect the
individualities of others and therefore, be tolerant of opinions in conflict with his own; he must
prefer methods of discussion and persuasion to methods of force.

3. The citizen of democracy also needs certain intellectual qualities. It is not enough to love truth;
he must learn how to find it. It is easy to teach students to reason correctly in the physical
sciences; it is much more difficult to reason correctly in the social sciences where their own
prejudices and passions are involved. They must be taught habits of clear thinking in order to
acquire the power of recognizing their own prejudices and of discussing political and economic
questions with the same calm, the same desire to understand the other person’s position.

4. A striking example of the effective working of the right kind of public opinion is given by the
history of the housing of the working classes. One hundred years ago, public opinion used to be
indifferent. Gradually, under the pressure of public opinion, governments began to intervene and
improve the standard of housing. Since the First World War, from the days of ‘Homes for Heroes’
campaign, public opinion has insistently demanded the abolition of the slums and the rapid
building of new houses until a good house is provided for every family. Housing has become the
front page news in the press. As a result, every government has taken action to provide affordable
housing, some in one way, some in another.
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(i)  Which of these fundamental qualities is a citizen of democracy expected to
have?
a) a sense of social responsibility
b) look beyond self-centred domains for the well being of others
c) individual identity
d) both (a) and (b)
(i) A good citizen may turn into a dictator unless he is -
a) a man of independent judgement
b) tolerant of the views of others
c) ready to satisfy his ego
d) coercive and believes in forceful imposition of opinions on others
(iii)  Itis much more difficult for students to reason correctly in the social sciences
because -
a) their own prejudices and passions are involved
b) the social sciences deal with less interesting areas
c) social sciences shape up our basic concepts; but make us morally
weaker
d) both (a) and (b)
(iv)  Recognizing one’s own prejudices is possible if one is -
a) smart b) confident c) intelligent d) alert
(v)  According to the passage, it is most important to know how to -
a) reason correctly in the physical sciences
b) understand different points of view
c) discuss matters calmly
d) All of the above

(vi)  Since the First World War, has become the front page news in the
press.

(vii)  Governments began to intervene and improve the standard of housing, gradually
under the pressure of public opinion unlike that of hundred years ago when public
opinion used to be indifferent. (True/ False)

(viii)  Find the synonym of the word ‘basic’ in paragraph 1.

Read the following passage carefully and answer the questions that follow: -

1.Education, tackled by UN’s Sustainable Development Goal 4, highlights the need to ensure
free, equitable and quality primary and secondary education for all children. While the goal of
achieving universal primary education is within reach for many countries throughout the world,
a more thorough analysis reveals something rather different.

2. According to the new UNICEF Education Pathway Analysis, 92% of children globally have
entered primary school, but only 78% made the transition to lower secondary school. Reasons
included dropout, repetition and non-transition. From this number, only 57% complete lower
secondary school by the age of 15 to 17--- an age in which they are supposed to be in upper
secondary school, and 53% transition to upper secondary school. As for others, 17% are still
attending lower secondary, being above age for that grade and 4% dropout of lower secondary
school. Thus, many children fail to complete the upper secondary level in the appropriate time,
putting them at risk of dropping out. Even worse, some drop out before finishing.

3. The educational pathway data also calculates education efficiency rate, which represents the
share of children who transition to upper secondary school at the age expected for that grade,
divided by the share of children who enter primary school. Globally, this rate is 58%, but there
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are stark regional disparities. For example, African countries have education efficiency rates
below 40%, while in Latin America and Asia, the rates are typically 60% or above.

4. But a larger question faced by most countries is one of educational competency. As outlined
by SDG 4, access to education is not enough. The quality of the education given and the
learning competencies of the student must also align with global trends. The National
Achievement Survey 2021 undertaken by the Government of India focused primarily on this
aspect. It evaluated the competency of different levels of students across classes (3, 5, 8 and 10)
and subjects (Language, Social Studies, Mathematics and Science) based on their ability to
analyse, reason and communicate ideas.

5. The NAS 2021 found that the competency scores for various subjects in different classes
ranged between a minimum of 41% and a maximum of 65%. However, the competency scores
gradually decreased in the higher classes. It ranged between 61% and 65% in class 3, but
reduced to the 57%-62% range in class 5 and 41%-55% in class 10. A major finding was that
the average competency score of girls was generally higher than that of boys. Although the
competency scores of boys and girls in Science and Mathematics were equal in class 8, the
boys scored marginally higher in Mathematics in class 10, while the girls scored higher in
Science.

(i) By Sustainable Development we mean -

a) development that is based on understanding current needs and demands of all
people
b) a child’s all round development
c) development that is conducted without depletion of natural resources
d) All of the above

(i) The following statements are marked Assertion (A) and Reason (R). Read the
statements and choose the correct option.
(A): According to an analysis by UNICEF, 92% children globally have entered
primary school; but only 78% made the transition to lower secondary school.
(R): Considerable school dropout, repetition and non transition was noted.
a) Both (A) and (R) are true and (R) is the correct explanation of (A)
b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
c) (A) is true but (R) is false.
d) (A) is false but (R) is true.

(ili) The word ‘equitable’ means -
a) on the basis of caste b) on the basis of region
¢) equal in length and breadth d) impartial and non-discriminatory

(iv) Many children fail to complete the upper secondary level in the appropriate
time, putting them at the risk of dropping out. In this context, the worst part is
a) Some students fail to receive scholarships.
b) Some children drop out even before finishing.
¢) UNICEF discriminates between girls and boys.
d) Education Pathway Analysis is a faulty way of analysing the real scenario.

(v) According to the passage, the education efficiency rate is -
a) total number of children who go to school
b) the share of children who transition to upper secondary school at the age expected
for that grade, divided by the share of children who enter primary school
c) the pass percentage class wise
d) the total number of candidates who appear for the exams
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(vi) Inorder to assess and evaluate competency at different levels -
a) there is a need to assess all subjects at the same level
b) children of a specific age need to be assessed
¢) a pupil’s power to reason, analyse and communicate needs to be thoroughly
assessed
d) only a sample study of a few students would be enough
(vii) Identify the most common question faced by most countries.

(viii) What is the basic outline of SDG 4?

(ix) Mention whether the following sentence is True or False:
The National Achievement Survey2021 evaluated the competency of different levels
of students across different classes and subjects.
(X) “Globally, the education efficiency rate is 58%, but there are stark regional
disparities.” Infer the meaning of this statement.
(xi) The__ found that the competency scores for various subjects in different
classes ranged between a minimum of 41% and a maximum of 65%.
(xii)  Find a synonym of the word ‘handle’ from the passage. (paragraph 1).
Section-B (Writing and Grammar)
The Inter School Debate Competition which was to be held in your school on Monday, August
15, 2024 has been postponed by a fortnight due to certain unavoidable reasons. Write a Notice
for the school notice board informing participants about the change and any other necessary
information in not more than 50 words. You are the head boy / head girl of your school.
OR
Complete the conversation between the Traffic Officer and Car Driver given below:

Traffic Officer: If you don't follow traffic rules, it can cause road-accidents.
Driver: But officer, I did not (a)
Traffic Officer: No, | saw you. You will have to (b)
Driver: Please sir, | am a poor man!
Traffic Inspector: Okay, show me your license.
Driver: Sir, I don't (c)
Traffic Inspector: That's also against rules.
Driver: Please let me ring up my Sahib.
Traffic Inspector: What will he do?
Driver: He will speak to your senior officers
Traffic Inspector: How dare your say that! Now | am not (d) you!

OR
Read the telephone conversation between Ritu and Nitu when Preeti is away. Write Nitu's
message for Preeti. (Within 50 words).
Ritu: Is it 22226677
Nitu: Yes. May | know who is calling?
Ritu: | am Ritu, Preeti's friend. Can | talk to Preeti?
Nitu: No, she is not at home, she has left for her college. Is there any message for her?
Ritu: Tell her that my elder brother, Ankit has got admission in a Medical College at Pune. He
is leaving tomorrow. We are holding a dinner party this evening to celebrate his achievement.
Tell her that she is invited to the party and to come to our residence at 7:30 p.m.
Nitu: O.K. I'll do that.
Ritu: Thank you.
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You are Arun / Savita, a student of class VIII. You have to prepare a Speech to be delivered in
the morning assembly of your school on the topic ‘Good deeds reflect a good character’
highlighting the qualities of being a noble and a considerate soul which would ultimately help
in building an ideal society. Write the speech in about 100-120 words. Refer to the unit
'‘Compassionate souls' of My English Reader along with your views.

OR

Vacation time now has changed from the earlier times when little children used to indulge in
playing games, spending time with family, reading, etc. Taking ideas from the unit — ‘Changing
Times’ from My English Reader, write an Article in about 100-120 words on the topic —
‘Change in the concept of fun filled vacations.’

SECTION- B: WRITING AND GRAMMAR (30 MARKYS)

The following passage has not been edited. There is an error in each of the lines, against
which a blank is given. Write the incorrect word and the correction in your answer sheet
against the correct blank number.

Incorrect Correct

Rajasthan have some of the grandest e.g. have has
heritage structures of a country. @)
And, many of these historical buildings  (b)
are fading by time. World Heritage Day  (c)
is observe on April 18, to make efforts  (d)
to conserve these sites.

Rearrange the following words/ phrases to frame meaningful sentences.

a) Coming/to/must/get/tourists/care and protection/our country/best/ the

b) foreign exchange / extremely / earning / source / tourism / important / is an / of
c) the/economy /country/is/it/the/of /improving

d) provides / number / jobs/a/ people / of/ large / to / it

Read the conversation between Mickey and Goofy. Then report it by completing the
sentences that follow using appropriate expressions:

Mickey: This cake tastes delicious! Where did you learn how to bake?
Goofy: | taught myself. | enjoy doing it.
Mickey: It is Donald’s birthday next month. May be, you can bake him a cake.

Mickey told Goofy that (a) . He asked Goofy (b)
how to bake. Goofy said that (c) how to
bake. Mickey reminded Goofy of Donald’s birthday next month and suggested that

(d)
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10.

Choose the correct word from the options given below to complete the following passage:

Ayurveda, which means ‘the science of life’, (a) (prescribe / prescribes /
prescribed) six different tastes in every meal. The sweet taste (b) (find / finding /
found) in bananas, mangoes etc., is meant to (c) (build / built / building) tissues and
calm nerves.

Do as directed

(a) He swim very well in his youth. (fill in the modal)
(b) Simple living and high thinking Gandbhi’s philosophy. (Fill in the verb that agrees
with the subject)

(c) She visited her mother when she went to Kolkata. (Identify the main clause and the
subordinate clause)

SECTION - C: LITERATURE (30 MARKS)

Attempt ANY ONE extract out of the two given below.
Read the following and answer the questions in a word / phrase / sentence.

“Teach us to rule ourselves alway,
Controlled and cleanly night and day;
That we may bring, if need arise,

No maimed or worthless sacrifice.”

1) What does the poet mean by ‘rule ourselves’?

a) The poet wants God to teach the children how to control the rules of the world.
b) The poet wants God to teach the children how to rule the world.

c) The poet wants God to teach the children how to rule themselves.

d) The poet wants God to teach the children how to make rule themselves.

ii) Find out the word from the above extract which is the opposite of rejuvenated.
a) controlled

b) maimed

c) sacrifice

d) worthless

iii) Sacrifice is a powerful act of kindness. But the poet does not want maimed and worthless
sacrifice? The reason for this is -

a) The poet wants the children to sacrifice everything whole heartedly at the time of need.

b) The poet wants the children to sacrifice their country ends at the time of need.

c) The poet wants the children to learn how to sacrifice for the country.

d) The poet wants the children to teach how to sacrifice everything at the time of need without
hesitation.
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iv) What are the lessons that the poet wants the children to set for their life?
a) honesty, avarice and kindness.
b) fearlessness, kindness and cupidity.
c) honesty, kindness and selflessness.
d) self — control, guileful and kindness.
OR
“Confined to her bedroom, while every breeze
Whispered of summer and dancing leaves.
But she held her peace till she felt stronger,
Then sat up and said, ‘I’ll lie here no longer!”
1) Why was Granny confined to her bedroom?
a) She learnt climbing trees at the age of six.
b) She was an old lady and wanted to take rest.
c) She wanted to grow old gracefully.
d) She was advised by the doctor to take rest.

ii) “Whisper of summer and dancing leaves”.

Choose the correct alternative that explains the same literary device as mentioned in the line
above:

a) He is as funny as a barrel of monkeys.

b) I’ve read this book a hundred times.

¢) The smart phone beeped, demanding attention.
d) She looked at him through concerned eyes.

111) What does the phrase “She held her peace” mean?
a) to stay silent
b) to say something about nature.
c) to develop peace with the family members.
d) to regret not to go outside.

iv) I’ll lie here no longer. What impression do you form of Granny?
a) She loves her family very much.
b) She is a nature lover.
c) She agrees not to climb the trees.
d) She wants to grow old disgracefully.

Read the given extract and answer the questions that follow:
“I see that you’re in the habit of eating a heavy luncheon. I'm sure it’s a mistake. Why don’t
you follow my example and just eat one thing?”

1) Identify the person who is offering advice on eating habits in the extract?
i1) What was the speaker’s reaction to the narrator’s choice of food?
ii1)) Name two dishes that the speaker ordered.
iv) Do you agree that the speaker never eats more than one thing for luncheon? Give a reason
for your answer.
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13.

14.

OR

“Swami’s head was dizzy with confusion in regard to Samuel’s character -Whether he was
good or bad, whether he deserved the allegations in the letter or not.... Swami felt an impulse
to run home and beg his father to take back the letter. But Father was an obstinate man.”

1) Why did Swami feel dizziness in his head?

i1) “Whether he deserved the allegations in the letter or not’ - Recall the source of the
allegations against Samuel.

ii1) Swami’s conscience was bothering him? What do you think was the reason?

iv) ‘Father was an obstinate man’ Justify the statement.

Answer ANY SIX of the following questions briefly. (30-40 words)

a.
b.

g.

What lesson does the king learn from helping the hermit? (Three Questions)

“For her, it was like a brief season in hell.” Explain the meaning of these words? (Granny’s
Tree Climbing)

“So, he changed his tactics.”- Who is ‘he’? Why did he change ‘his tactics’? (Father’s
Help)

What does the poet say about his mother’s ‘caring hands’? (My Mother)

How did the narrator react to the bill and how did it affect him? (The Luncheon)

What lesson does "The Case of the Sharp-Eyed Jeweller" convey about observation and
attention? (The Case of the Sharp-Eyed Jeweller)

How do the children express their sense of duty towards their country? (The Children’s Song)

What message does the author convey through Granny's character in the lesson ‘Granny’s Tree
Climbing’?

OR

What role does the letter that Swaminathan's father writes to the headmaster play in the story,
and how does it drive the plot forward?

Imagine you are the King of the story, Three Questions. Write a diary entry expressing your
satisfaction of finding the answers of your questions and making peace with the bearded man.
Draft the Diary Entry in 100 words.

OR

The poem, ""The Children’s Song” exhibits our duties and responsibilities for our motherland. Mention
some virtues/ qualities which you wish to inherit in order to serve your nation in the best possible manner.
Also narrate a brief incident in which you displayed one of those virtues. (100 words)

*kkkhkkikkkhkikhkkik
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MAXIMUM MARKS: 80
TIME: 3 HOURS

General Instructions:

1.

2

The question paper consists of 6 printed pages with 5 sections A, B, C, D and E.

Section A has 20 MCQ carrying of 1 mark each.

Section B has 5 questions carrying of 02 marks each.

Section C has 6 questions carrying of 03 marks each.

Section D has 4 questions carrying of 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks each) with sub-

parts of the values of 1,1 and 2 marks each respectively.

All questions are compulsory. However, an internal choice in 2 questions of 5 marks,

2 questions of 3 marks and 2 questions of 2 marks has been provided. An internal

choice has been provided in the 2 marks questions of Section E.

Draw neat figures wherever required. Take m =22/7 wherever required if not stated.
SECTION A

Section A consists of 20 questions of 1 mark each.

How many non-square numbers lies between 1002 and 1012 ? 1
(a) 100 (b) 150 (c) 200 (d) 250
Which of the following is a Pythagorean triplet? 1
(a) (2,3,5) (b) (5.7,9) (c) (6,9,11) (d) (8,15,17)
In the given figure, ZOAB = 110° and 2BCD = 130°, then 2ABC is 1
equal to
' O
- .
O e 7 130°
110% {/
.\:\\71
B
(c) 60° (d) 70°
1
(c) 0.75 (d) 12
1

m

n
If m I n, then x=
(a) 10° (b) 20° (c) 30° (d) 40°



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Two quantities x and y are in inverse proportion. Then if y is doubled, x becomes

(@) one -third (b) halved

(c) two-third (d) doubled

If 12 men can do a piece of work in 20 days, how long will it take 40 men to do it?

(@) 12days (b) 6 days

(c) 40days (d) 16 days

Rohit purchased a jeans for R2000. He sold it for T1800. Then loss

percent is

a) 10% b) 15% (c) 20% (d) 30%
3/0.027 — 3/0.008 is equal to

(@1 (b) 0.1 (c)0.11 (d) 0.09
Cube of 0.1 is equal to

(@ 1.11 (b)0.001 (c)0.101 (d)o.01
Discount is always calculated on

(a) cost price (b) marked price (c) selling price (d) GST
(x+5)(x—-3) =?

(@) x? + 5x — 15 (b) x? —3x — 15 (c) x> +2x —15 (d) x% + 2x + 15
G+3)GE-3)=

OG3OS eEEE) G-
The total surface area of cylinder with diameter of base 5 cm and height 30 cm will be

(@) 510.7 cm? (b) 610 cm? (c) 505 cm? (d) 511cm?
The number of faces of a tetrahedron is

(a) 14 (b) 12 (c)6 (d) 4

The distance of the point (13, 15) from the Y-axis is

(@) 28 units (b) 2 units (c) 13 units (d) 15 units

Distance of a point from X-axis is called

(a) ordinate (b) origin (c) abscissa (d) quadrant

The points A(m, m-2) and B(-7, 2m+7) have same ordinate, then the value of m is

(@)1 (b)9 ()4 (d)-9

Assertion (A): A side of a square with area (4x2? + 12x + 9) square units is (2x + 3) units.

Reason (R): (a—b)? = a2 — 2ab + b?

(a) Both Assertion (A) and Reason (R) are true and Reason is the correct explanation of
Assertion(A).

(b) Both Assertion (A) and Reason (R) are true but Reason is not the correct explanation of
Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true



20.

21.
22,

23.

24,

Assertion (A): A square prism has 6 faces, 8 vertices and 12 edges
Reason (R): Ina 3D polyhedron, F —E+V =2
(a) Both Assertion (A) and Reason (R) are true and Reason is the correct explanation of
Assertion(A).
(b) Both Assertion (A) and Reason (R)s are true but Reason is not the correct explanation of
Assertion (A).
(c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.
SECTION B
Section B consists of 5 questions of 2 marks each.
Find the smallest number by which 2560 must be multiplied so that the product is a perfect cube.

Find the cube root of (-2744) by prime factorisation method.

OR
. 3]0.512
Find /—
0.343

In the following figure [ || m, if £1 = 55°, find £2, 23 and 44.

In the given figure, show that A

(a) ABICD 9 .
gr—F
(b) EF || CD /@00

20>~
@ 2

OR
Find the value of k if21=150°- k, and
22 =60+ kand!l | m.

A
1
y

A




Plot the points P(1,1 ), Q(5, 1) , R(5, 5) and S(1, 5). What kind of quadrilateral is PQRS? 2
SECTIONC
Section C consists of 6 questions of 3marks each
In a lecture hall, 8,649 students are sitting in such a manner that there are as many students in a 3
row as there are rows in the lecture hall. How many students are there in each row of the lecture
hall?

OR
Find the least number of six digits which is a perfect square. Find the square root of this number.
Find the cube root of 15625 through estimation. 3
Expand: (—x + 6y + 4)? 3
OR
If x2 + — = 51, find the value of x2 — —.
Two parallel lines | and m are cut by a transversal t. If the interior angles on the same side 3

of t are (2x—8)° and (3x—7)°, find the measure of each of these angles

How long will a train, 120 m long, take to cross a platform, 130 m long, if its speed is 50 km/hr? 3
Write the coordinates of each of the vertices of each polygon in the given figure: 3
Y - axis
A
6 -
5 A B Q
A B <I
3 D R
x| lv =
2r——I
‘ ot
| Z [ | X-‘axls
© {1 2 3 4 5 6 7 8 9 10 N
SECTION D
Section D consists of 4 questions of 5 marks each
If a += == find the value of (a — ). 5
a 4 a

There is provision of food for 50 days of 1000 soldiers in a fort. How many soldiers should leave 5
after 15 days so that the remaining food last for 40 days?
Priti allows 8% discount on the marked price of the suits and still makes a profit of 15%. If her 5
gain over the sale of a suit is Rs. 156, find the marked price of a suit.

OR
Nidhi purchased two sarees for Rs. 2,150 each. She sold one saree at a loss of 8% and the other at
a gain. If she had a gain of Rs. 1,230 on the whole transaction, find the selling price of the second

saree.



35.

36.

37.

The length of a roller is 40 cm and its diameter is 21 cm. It takes 300 complete revolutions to
move once over to level the floor of a room. Find the area of the floor of the room in m2.
Hence find the cost of polishing the floor at the rate of Rs. 17 per m?2.
OR

The curved surface area of a cylindrical pillar is 264 m? and its volume is 924 m3. Find the
diameter and the height of the pillar.

SECTION E
CASE STUDY -1

On a season sale, Raghav sold a watch for Rs. 990 and made a profit of 10%. He sold a radio at

the same price and suffered a loss of 10%.

Based on the above information answer the following question:

i) What is the C.P. of the watch? 1)

i) What is the C.P. of the radio? 1)

iii) Find the total C.P. of both the items. (2)
OR

iii) Find the total S. P. of both the items.
CASE STUDY -2

A square plot was lying vacant in the locality. The children of that locality requested the plot
owner to allow them to use it as a playground, the owner agreed. The plot was to be levelled and
fenced. The total cost of levelling at the rate of *15 per square metre was X 19440. The children
were very happy to get a playground.

Based on the above information answer the following question:

(i) Find the area of the plot. 1)

(if)Find the side of the playground. 1)

(i11)Find the cost of fencing the playground at the rate of ¥ 22 per metre. (2)
OR

(ii1) Find the square root of 36 by repeated subtraction method.

5



38. Anup after retirement thought to stay in village’s house. After going there he found there was 4
shortage of water in village, so he thought of constructing a well. He hired some labourers and
guided them that well should be 7m in diameter and 20m deep.

, e P =Y
. o4 S \ 5

Based on the above information answer the following questions:

i) What is the shape of the well? 1)

i) What will be the radius of the well? 1)

iii) What will be the volume of the earth dug out? (@)
OR

iii) What will be the inner surface area of the well?

*hkkkikkkkhkikhkkikkk
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PERIODIC TEST Il
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CLASS: VIII MAXIMUM MARKS: 80
SUBJECT: SCIENCE AND TECHNOLOGY TIME: 3 HOURS

General instructions:

1. This question paper comprises 8 pages and five sections A, B, C, D and E. There are 38
questions in the question paper. All questions are compulsory.

2. Section A consists of question number 1 to 19. These questions are MCQs and Assertion-
Reason questions. They carry one mark each.

3. Section B consists of question number 20 to 25. These are short answer questions which
carry two marks each.

4. Section C consists of question number 26 to 31. These are also short answer questions
which carry three marks each.

5. Section D consists of question number 32 to 34. These are long answer questions and carry
five marks each.

6. Section E consists of question number 35 to 38. These are case -based questions and carry
four marks each.

7. There is no overall choice in the question paper. However, internal choices have been
provided in some questions.

SECTION A
Which of the following relationships between the liquid pressures at the bottom of three
containers (shown in the figure) is correct?

_— o —

— — = —
II }

A B C
(a) Pressure at A>Pressure at B>Pressure at C
(b) Pressure at A=Pressure at B=Pressure at C
(c) Pressure at A<Pressure at B<Pressure at C
(d) Pressure at A<Pressure at C<Pressure at B

Two boys ‘A’ and ‘B’, shown in the figure given below, are applying force on a block
simultaneously. If the block start moving towards the right, then which one of the
following statements is correct?

(a) The magnitude of force applied by A is greater than that of B.
(b) The magnitude of force applied by A is smaller than that of B.
(c) The net force on the block is towards left.

(d) The magnitude of force applied by A is equal to that of B.



A man is pushing a box from left to right as shown in the figure.

'

The force of friction that acts on the box is in the direction-
(a) vertically downwards

(b) vertically upwards

(c) from left to right

(d) from right to left

The shoe, shown in the image below, usually preferred by sportspersons because -

(@) Itis on trend (fashion).

(b) Itis available in different colours and designs.

(c) It increases the friction and provides better grip on the ground.
(d) It reduces friction.

Rohit makes a circuit as shown in the figure given below.

Battery
p—
L

=D
N

Bulk

Beaker ;| | | £ Distilled
water

He notices that the bulb does not glow. What changes Rohit can do in the circuit to make
the bulb glow?

(a) Add few drops of alcohol in the beaker.

(b) Add a pinch of common salt in the beaker

(c) Cool the water present in the beaker

(d) Add a spoon of sugar in the beaker

Various materials which are obtained from nature are called natural resources. Which of
the following is not a natural resource?

(a) Minerals (b) Water

(c) Soil (d) Plastic
Which of the following is used in the extraction of metals?
(a) Coke (b) Coal tar

(c) Coal gas (d) CNG

Which of the following is not a constituent of petroleum?
(a) Paraffin wax (b) Lubricating oil
(c) Petrol (d) Coke



10.

11.

12.

13.

14.

15.

The table shows the ignition temperature of four substances.

Substance Ignition Temperature(°C)
A 81
B 40
C 111
D 26
Which substance will catch fire easily when heated at 50°C?
@ AandC
(b) Band D
(c)Cand D
(dAand D

Choose from the following which is responsible for transferring traits from one
generation to next-
a) Ribosome
b) Golgi complex
c) Gene
d) Chromoplasts
A vaccine produces immunity to a disease
a) by increasing the number of beneficial microorganisms.
b) by weakening the pathogens
c) by stimulating the production of antibodies
d) by killing the pathogens
Match the following-
Column | Column 11
A. Mycoplasma i. Store starch
B. Organ ii. about 0.1 micron in diameter
C. Leucoplasts iii. kidney
Choose the correct option:-
a) A-iii, B-i, C-ii
b) A-ii, B-iii, C-i
c) A-iii, B-ii, C-i
d) A-i, B-iii, C-ii
Maintaining good personal hygiene can prevent many diseases. Which of the following
diseases can be prevented by maintaining good personal hygiene?
(@) cholera
(b) tuberculosis
(c) ringworm
(d) common cold
Select the option that is an example of non- communicable disease?
(a) malaria (b) dysentery
(c) rickets (d) tuberculosis
Look at the diagram and identify the parts-




16.

17.

18.

19.

20.

21.

22,

23.

24,

(a) X- chromatin, Y- nucleolus, Z- ribosome

(b) X- nucleoplasm ,Y-nucleolus, Z- mitochondria

(c) X- chromatin ,Y-ribosome, Z- Endoplasmic Reticulum
(d) X- DNA, Y-nucleoplasm, Z-ribosome

Q. No. from 16 to 19 are Assertion-Reasoning based questions, one labelled as
Assertion (A) and other as labelled Reason (R). Select the correct answer to these
questions from the codes (a), (b), (c) and (d).

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) Ais true but R is false.

(d) A'is false but R is true.

Assertion (A): A person jumps from an aeroplane and falls down with high speed. Then
he opens his parachute and his speed reduces.

Reason(R): Fluid friction decreases with increase in the speed of the moving body.

Assertion (A): Tin cans (which are used for storing food) are made by electroplating of
tin onto iron.

Reason(R): Tin is more reactive than iron. Thus, food comes into contact with iron and
is protected from getting spoiled.

Assertion (A): Burning of coal and diesel release Sulphur dioxide gas, which causes acid
rain.
Reason(R): Sulphur dioxide dissolves in water vapours to produce carbonic acid

Assertion (A): Mitochondria are called ‘Power houses’ of the cell.
Reason(R): Mitochondria produce cellular energy in the form of ATP.

SECTION B
Two rods A and B of the same weight and equal length have different thickness as shown
in the figure. They are held vertically on the surface of sand. Which one of them will sink
more? Why?

. W B
F=10N F=12N F=14N
Not moving Just starts moving
to move
A B (&

(@) What are the values of the force of friction in fig-A and fig-B?
(b) Is the magnitude of frictional force greater in fig-C than that in fig-B? Justify.
(@) (i) Name the zone in a candle flame which contain unburnt wax vapours.
(i) Name the zone in which a copper wire gets red hot.
Raman is observing two unicellular organisms under compound microscope, one of

which possess hair like extensions around the body and the other one has a thread like
extension. Identify the structures and mention the importance of these structures.
Identify the type of microorganisms involved in the following diseases-
a) Diphtheria
b) Smut of rice
c) Chickenpox
d) Amoebic dysentery
OR
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Vaccination is an important way to build immunity.
a) How does a vaccine produce immunity to a disease?
b) Name two methods of administering vaccines

Classify living organisms with respect to their cell number. Quote an example each to
support your answer.

SECTIONC
Figure given below shows a car sticking to an electromagnet.
a) Name the two forces acting on the car.
b) Which one of them is larger and why?

A student sets up the circuit for electrorefining of copper (as shown above).
a) Name the materials used for the electrodes A and B.
b) Mention the name of the electrolyte that needs to be used.
c) Give another use of electrolysis.
The calorific values of petrol and CNG are 45000 kJ/kg, and 50000 kJ/kg respectively. If
you have vehicle which can run on petrol as well as CNG, which one you prefer more?
Give two reasons to justify your answer.
OR
Give one word for the following:
(a) Amount of heat energy produced on complete burning of one kilogram of a fuel in
pure oxygen.
(b) The minimum temperature at which a given substance begins to burn.
(c) A region of burning gases.

Define destructive distillation of coal. Write the names and any one use

each of (i) a liquid and (ii) a gaseous product, obtained by destructive

Distillation of coal.

If we hold a glass slide in the luminous part of the flame, we see a circular greyish black
ring on the slide with no deposition in the centre of the ring. Explain what causes such a
formation?

Malaria is a communicable disease.
a) Name the causative microorganism of this disease and the mode of transmission.
b) What are pathogens?
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SECTION D
Sonali wanted to coat silver on an iron spoon. She took some amount of silver nitrate
(AgNO:s) solution in a beaker and set up a simple circuit for electroplating.
(a) Draw a labelled diagram in support of the above information.
(b) Explain, to which terminal of the battery, the spoon should be connected.
(c) What material should be used for the other electrode?

OR

The figure given below shows the experiment on electromagnetic induction, where a coil
of insulated copper wire is connected to a torch bulb. The bar marked N-S represents a
magnet.

ey — ()]

(a)What should be done to —
(1) Maintain the steady flow of current.
(ii) Stop the flow of current.
(iii) Increase the strength of electric current.
(b) Name any one device where the phenomenon of electromagnetic induction is used.
(c) Define the term ‘electromagnetic induction’.

a) Give reason for the following:
i) We can boil water in a paper cup without burning the cup.
i1) Dry leaves catch fire more easily than fresh green leaves.

b) No one is allowed to take burning material near petrol stations. Give
reason. Also write one way to control the consequence of the above
situation.

¢) ‘LPG has better fuel efficiency over wood’- Explain.
OR
a) From the given image write the three ways by which fire breakout can
be prevented.

b) ‘Incomplete combustion is harmful to the environment.’ Justify the statement.

(i) Draw a plant cell and label the parts which
(a) Is a dead layer and permeable
(b) Is the kitchen of the cell
(c) Packages materials coming from endoplasmic reticulum
(d) Controls and regulates all the activities of the cell.
(i) Identify the two structures from the diagram which are present only in typical plant
cell.
OR
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(i) How are chromatin and chromosomes related to each other?
(i) Plant cells possess large-sized vacuole give two reason?
(iii) Write two common features between amoeba and white blood cells.

SECTION E
Question numbers 35 to 38 are case study-based questions and contain five sub-parts each.
You are expected to answer any four sub-parts in these questions.

The discovery of atmospheric pressure gives a fact that air has weight. The weight of the
atmosphere presses down and creates pressure on earth surface. The pressure at any point
on earth’s surface exerted by the weight of the air above is called atmospheric pressure.
The atmospheric pressure on the earth's surface at sea level is one hundred thousand
Pascal i.e.100 KPa. The atmospheric pressure decreases at a place with an increase in
altitude.

(a) What happens, when the pressure inside a sealed bottle exceeds the atmospheric
pressure?

(b) Ink does not spill out of an ink dropper until it is pressed. Why?

(c) Write the cause of atmospheric pressure exerted on earth.

(d) Why do our ears pop as we go higher up on mountains?

(e) Why does a rubber sucker stick to a surface of wall, once it is pressed?

An experimental data of an activity on friction acting between a block and a table surface
is shown below.

Applicd torce
-

P R s
— e =y e N
2 ey G N Friction
= : i \?\]
. =

-

Sl. | Applied | Frictional | State of
No. | Force force the block | P
1 20N 20N At rest M . |
i N\

2 30N 30N At rest 2w | / 3SR
3 | 40N 40N At rest A e e b
4 [ SON 50N Just 3 P4

about to -l g

slide / ‘

5 | 55N 45N | In motion 17 i |
6 60N 45N | In motion R e
7 70N 45N In motion

(a) Which type of friction is represented by the part BC in the graph?

(b) Find the value of force of limiting friction from the given data.

(c)What conclusion can you draw from the data shown in SI. No. 1, 2 3 and 4 given in
the above table?

(d) Arrange sliding friction, limiting friction and rolling friction in increasing order.

(e) Find the resultant force acting on the block according to the data given in Sl. No. 5 of
the above table.

Coal is one of the fuels used to cook food. Earlier, it was used in railway engines to
produce steam to run the engine. Coal is also used as a fuel in various industries. About
300 million years ago the earth had dense forests in low lying wetland areas. Due to
natural processes, like flooding, these forests got buried under the soil. As more soil
deposited over them, they were compressed. The temperature also rose as they sank
deeper and deeper. Under high pressure and high temperature, dead plants got slowly
converted to coal. Since it was formed from the remains of vegetation, coal is also called
a fossil fuel.
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(a) The fuel that is used in thermal power plant to produce electricity.

(b) Name the process for the formation of coal.

(c) Define the process that is mentioned in part (b).

(d) The burning of fossil fuels causes air pollution , name two gases that is produced
after burning of these fossil fuels.

(e) Write the name of the earliest stage of coal.

Whenever you fall ill the doctor may give you some antibiotic tablets, capsules or
injections. The source of these medicines is microorganisms. Streptomycin, tetracycline
and erythromycin are some of the commonly known antibiotics which are made from
fungi and bacteria. In 1929, Alexander Fleming was working on a culture of disease-
causing bacteria. Suddenly he found the spores of a little green mould in one of his
culture plates. He observed that the presence of mould prevented the growth of bacteria.
In fact, it also killed many of these bacteria. From this the mould penicillin was prepared.
When a disease-carrying microbe enters our body, the body produces antibodies to fight
the invader. If dead or weakened microbes are introduced into a healthy body, the body
fights and kills the invading bacteria by producing suitable antibodies. The antibodies
remain in the body and we are protected from the disease-causing microbes forever.
Several diseases, including cholera, tuberculosis, smallpox and hepatitis can be
prevented by vaccination. Edward Jenner discovered the vaccine for small- pox in 1798.
In your childhood, you must have been given injections to protect yourself against
several diseases.

(a) Name two antibiotics one of which made from fungi and the other made from
bacteria.

(b) Give a difference antibiotics and vaccine.

(c) If an invading bacterium enters our body, state the action of antibodies.

(d) Why is immune system essential for our health?

(e) Define immunization?
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General Instructions: -

Read the following instructions carefully and strictly follow them.

Question paper comprises six Sections- A, B, C, D, E and F. There are 37 questions and all are
compulsory.

Section A- Question Nos. 1 to 20 are very short answer type questions, carrying 1 mark each.

Section B- Question Nos. 21 to 24 are short answer type questions, carrying 2 marks each. Answer to
each question should not exceed 40 words.

Section C- Question Nos. 25 to 29 are short answer type questions, carrying 3 marks each. Answer to
each question should not exceed 60 words.

Section D- Question Nos. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to
each question should not exceed 120 words.

Section E- Question Nos. 34 to 36 source-based questions with three sub questions and are of 4 marks
each.

Section —F Question no. 37 is map based questions carrying 6 marks with two parts 37(A) from
Geography (3 marks) and 37 (B) from History (2 marks).

Answer should be brief and to the point. The word limit be adhered to as far as possible.

There is no overall choice in the question paper. However, internal choice has been provided in a few
questions. Only one choice in such questions is to be answered.

Attach Map along with your answer book.

In addition to this separate instruction are given with each section and question, whenever necessary.

Section -A
Identify the type of resources with the help of the given clue and choose the correct option.
These types of resources are obtained from biosphere. (1)
A) Abiotic Resources  B) Potential Resources  C) Stock Resources D) Biotic Resources
Choose the most suitable reason for the African nations being less developed. (1)

A) Most of the countries are devoid of resources.

B) Most of the people are unskilled and illiterate.

C) Most of the countries receive less amount of sunlight.
D) Human resources are well-developed.

Which of the following resources can be recycled? (1)
A) Coal, gold and silver B) Coal, petroleum and iron

C) Gold, silver and iron D) Natural gas, gold and coal

(1)

Identify the type of irrigation.
A) Drip irrigation B) Sprinkle irrigation
C) Pivot irrigation D) Surface irrigation



Match Column I with Column 11 and Choose the correct option:

Column | Column 1l (D)
I. Afforestation a. organic component of soil
ii. Contour ploughing b. planting trees
iii. Shelter belt c. desert region
iv. Humus d. hill slope
A) i-a, ii-c, iii-b, iv-d B) i-b, ii-a, iii-d, iv-c
C) i-d, ii-c, iii-a, iv-b D) i-b, ii-d, iii- c, iv-a

Match the names given in Column ‘A’ with the related information given in Column ‘B’ and (1)
choose the correct option given below as the answer.

Column A Column B
) Lala Lajpat Rai a) Kesari
i) Subhash Chandra Bose b) Unhappy Indian
11)) Bal Gangadhar Tilak c) Anandmath
iv) Bankim Chandra d) You give me blood I will give you freedom
Chatterjee
Option
A) i-a, ii-b, iii-c ,iv-d B) i-b, ii-c, iii-d, iv-a
C) i-b, ii-d, iii-a, iv-c D) i-d, ii-c, iii-b, iv-a

Identify the monument shown below. (@D)

” y T

Options:
A) Victoria Terminus, Mumbai B) Victoria Memorial, Kolkata
C) Parliament House D) Rashtrapati Bhawan

The British Library’s Oriental and Indian office collection are the example of which source of (1)
information?

A) Books B) Letters, writings, speeches
C) Newspaper D) Internet or Database
Match the crops in Column A with the places of their cultivation in Column B (1)
Column A Column B
D) Sugarcane a) Bihar
i) Tea b) Kerala
iii) Indigo c) Maharashtra
iv) Pepper d) Assam
Option
A) i-a, ii-b, iii-c, iv-d B) i-c, ii-d, iii-a, iv-b

C) i-d, ii-c, iii-b, iv-a D) i-c, ii-d, iii-b, iv-c
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Identify the features of the Ryotwari system

I) Ryotwari system was introduced by Holt Mackenzie

I1) It was introduced in the year 1820.

I11) It was introduced in South India and Bombay area.

IV) The revenue was indirectly collected from the cultivators.

Options: -
A) Only I and Il are correct B) Only Il and 111 correct
C) Only I, I1, and Il are correct D) Only II, Il and IV correct

Which one of the following statements is NOT the economic cause of the revolt of 18577

A) The common people faced unemployment and poverty due to annexation policy of the British.
B) Industrial goods from Britain flooded the Indian market.

C) The policy of annexation like Doctrine of Lapse created fear among the Indian rulers.

D) The Zamindari system exploited the peasants who were forced to grow the crops required by
the British industries.

Which Governor General of India started the policy of “Doctrine of Lapse”?
A) Lord Dalhousie B) Warren Hastings
C) Lord Bentinck D) Robert Clive

Identify the feature of the preamble of the Indian constitution that makes India a democratic state.
A) Head of the state is President

B) Socialism is our national goal.

C) Every citizen has the freedom of religion.

D) Administration of the country is run by elected representative.

The Preamble of the Indian Constitution aims at securing
A) Fundamental Rights to all the individuals

B) Fundamental Duties to all the citizens of India

C) Security of tenure to all government servants

D) Dignity of all individual and unity and integrity of the nation

Identify the Fundamental Right with the help of the picture given below.

A) Right to Freedom B) Rights Against Exploitation

C) Right to Equality D) Right to Freedom of Religion.

Ramesh, a journalist, was arrested for publishing an article criticizing the government. Which
Fundamental Right might have been violated?

A) Right to Equality

B) Right to Freedom of speech and expression.

C) Right to Constitutional Remedies

D) Right to Freedom of Religion

1)

1)

(1)

1)

(1)

1)

1)
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Match correctly the items given in Column A with those in Column B.

Column A Column B

i) Concurrent list a) Agriculture

i) Union list b) E-commerce

iii) Residuary list ¢) Marriage and divorce

Iv) State list d) Foreign affairs
Option
A) i-c, ii-b, iii-d, iv-a B) i-b, ii-c, iii-a, iv-d
C) i-c, ii-a, iii-b, iv-d D) i-c, ii-d, iii-b, iv-a

Two statements are marked with Assertion (A) and Reason (R) have been given below. Choose
the correct option that follows: -

Assertion (A): It takes hundreds of years to make just one centimeter of soil.

Reason (R): Soil is formed through the process of weathering.

A) Both A and R are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A

C) A'is correct but R is incorrect

D) A is incorrect but R is correct

Two statements are marked with Assertion (A) and Reason (R) have been given below. Choose
the correct option that follows: -

Assertion (A): The nineteenth century witnessed various measures adopted by the East India
Company to extend and consolidate its control over India.

Reason (R): Unfortunately, India was divided into two countries—India and Pakistan.

A) Both A and R are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A

C) Ais true but R is false

D) A is false but R is true

Two statements are marked with Assertion (A) and Reason (R) have been given below. Choose
the correct option that follows: -

Assertion (A): All religions enjoy equal freedom in India.

Reason (R): India is a secular state.

A) Both A and R are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A

C) A'is correct but R is incorrect

D) A is incorrect but R is correct

Section-B

“Resources become usable when they are processed.” Justify the statement with an example.

The need to conserve soil from erosion has become one of the major environmental concerns.

Suggests any four methods that can help in soil conservation.
Identify the picture and mention his famous slogan.

\ &y

“India is a sovereign country.” Explain the statement.

1)

1)

(1)

(1)

(2)
(2)

(2)

@)
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Section-C

Enumerate the steps taken by the East India Company to establish its rule in India. (3)
Mention any three steps taken by the British to suppress the First War of Independence. (3)
OR

“The Revolt of 1857 was the outcome of the dissatisfaction among the Indian Sepoys against
the British.” Justify this statement with any three arguments.

“A Constitution is a body of fundamental rules according to which the government of a country (3)
functions”. In this context discuss any three features of the Constitution.
“If a person does not perform his/ her duties, others cannot enjoy their rights”. In the light of the  (3)
above statement discuss any three Fundamental Duties that every citizen is expected to perform.

OR
“Our Fundamental Rights are not absolute or unlimited.” Support this statement by giving three

examples of restrictions on our Fundamental Rights.

State any three functions of the Speaker of the Lok Sabha. (3)
Section -D
There is an urgent need for resource planning and conservation. Support the statement with (3+2)

three suitable arguments. Make a comparative study between actual resources and potential
resources.
OR
“Sustainable development and conservation are the need of the hour.” Explain any three measures
to be taken to conserve the resources for future generations. Make a comparative study between (3+2)
renewable and non-renewable resources.
With the help of a diagram explain the hydrological cycle. (3+2)
Large dams have come under a lot of criticism from environmentalist. Justify with any two
arguments how far their criticism is correct.

OR (5)
Suggest any five methods for the conservation of water.
Explain the causes of the failure of the Revolt of 1857. (5)
OR

Discuss any five changes that were made in the administration of India after the First War of
Independence was suppressed brutally by the British.

Examine any five functions of the Union Parliament. (5)
OR
A. Differentiate between the two houses of the Parliament on the basis of their composition,
election and tenure. (3+2)
B. Discuss any two advantages of Universal Adult Franchise.
Section -E

Read the extract given below and answer the following questions:

Human needs and wants are neither uniform in all parts of the world nor static over the years.
They generally grow and become complex with the process of change in the society. In ancient
times, emphasis was mainly given on satisfying the basic needs, such as food, clothing and shelter
which was derived from the natural environment. Even today, the pygmies of Africa eat edible
plants, roots, flowers, fruits, and hunt animals. In advanced societies, greater emphasis is laid on
the utilization of resources for satisfying the multifarious needs of human beings.
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Name the continent the Pygmies belong to.

Human needs and wants are neither uniform in all parts of the world nor static over the years.
Give the reason for the same.

Draw a difference between the usage of resources of ancient time and today.

Read the source given below and answer the questions that follow: -

Almost every tribe had a tribal chief. But under the British rule, the chiefs lost all power and were
forced to follow the laws made by the British officers in India. But the Britishers did not want
shifting cultivation because it was difficult to control the movement of tribals. But the tribals
wanted to continue shifting cultivation. The changes made in the forest laws by the British made
the tribal life very difficult. Most of the forests were declared as the state property, especially,
the reserved forests which produced timber. Many tribals had to move to other areas in search of
livelihood. This created a shortage of labourers to cut trees for the railway sleepers and to
transport logs.

State the impact of the British rule on the tribal chiefs.

Why did the British not like shifting cultivation?

Highlight any two adverse effects of the forest laws on the lives of tribals.

Read the source given below and answer the questions that follow: -

The intervention of the state in the religious and social practices of a particular religion may be

aimed at eradicating certain social evils which are a stigma in the name of the present civilized

society. For example, the practice of untouchability by the so-called ‘upper castes’ towards the

‘low castes’ has been abolished because it is based on discrimination and violates the

Fundamental Rights. Similarly, personal laws based on religion can also be amended through the

state intervention if they go against the principles of liberty, equality and justice. For example,

right of inheritance in some communities has been amended.

Give a reason for the intervention of the state in the religious and social practice of a particular

religion.

“The practice of untouchability by the so-called ‘upper castes’ towards the ‘low caste’ has been

banned.” Why?

Can the State provide funds to the religious institutions? Give reason in support of your answer.
Section-F

Two places A and B have been marked on the given outline map of the World. Identify
them and write their correct names on the lines marked in the map.

A) A region of low rainfall in southern part of Africa.

B) A region of high rainfall

On the same political outline map of the world locate and lebel the following:-

C) A region of high rainfall in South America.

On the political map of India, locate and label the name of the State.

A) The tribe that practiced shifting cultivation.

B) The tribe that raised the white flag as a symbol of Birsa Raj.

1)
1)

(2)

(1)
(1)
@)

1)
(1)
(@)

3)

(2)
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